CoRT 35355;2;'0"' ACCSESSORIES (Optional)
7-2RC Clear Top PART NO. | DESCRIPTION
WMO7 Wall Mount Bottom PS17 Waterproof Perimeter Seal
6018 4-40 x 1 1/2” Screw (6) 1040 2AA Battery Holder
6102 4-40 Threaded Inserts (6) |§| 60 Standoff Hole
61 Standoff Post

SERPAC WMO072RC

ELECTROMNIC ENCLOSURES

6018

OPTIONAL
Perimeter Seal

6102
(Pre-Installed)

Noftes: Enclosure weight .47 1b /215 g

1) Enclosure meets or exceeds IP40 and NEMA 1

2) Circuit Board drawings see sheet 3.

3) All components are RoHS Compliant.

4) Material: Top and Bottom ABS.

5) When used with PS17 the enclosure meets or exceeds

IP 67 and NEMA 4X, 12 and 13 MIL-STD-810G 506.5 (.03 Ib / 149)

Clearance for
#4 Screws

12/1/2023 (1 of 3)
2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




Top—

|<—2.06—>
A<7 N
fo L) o)
I
t | )
2.25 ®0.09
l 4 ! M'/_ TYP
e - ©H ®0.26
0.63 1] _ _ M Tvp
) oY)
} |
@ &
) ‘/_ ®027
© ©]
Q ¢ %
A ——m——

1.60

‘ 1.28

Bottom—

.- 493 ——— = —[0.30

921° —====—0.10

Notes: Enclosure weight .47 1b /215 g
1) Enclosure meets or exceeds IP40 and NEMA 1
2) Circuit Board drawings see sheet 3.

3) All components are RoHS Compliant.
4) Material: Top and Bottom ABS.

SERPAGC WMO072RC

ELECTRONIC ENCLOSURES

(o ~

o ©
3.67

S — - @
3.06

o | ©

\° % ?

5) When used with PS17 the enclosure meets or exceeds
IP 67 and NEMA 4X, 12 and 13 MIL-STD-810G 506.5 (.03 Ib / 14g)

6) Accepts #4 self tapping screw.

0.08—#——<—®O.]3 +
o .
0.10 *
e i 1.40
LA m [ T w0
I I ]
@0.25 = f——— — || ~—— ©0.26 ——0.33
SECTION A-A —|= P007/6\

12/1/2023 (2 of 3)

2009 Wright Ave. La Verne, CA 91750
Ph. (626) 331-0517 Fx. (626) 331-8584 www.serpac.com




Boitom Option

‘j% ﬂﬁ ﬂ L

!< 6.50 >!

SERPAC WM072RC CIRCUIT BOARD

ELECTRONIC ENCLOSURES




	Sheet2
	Drawing View27
	Drawing View38

	Sheet1
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Section View A-A

	PCB-info
	Drawing View46
	Drawing View47


